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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
1. Answer the followmg questions : (any seven)
‘ 1x7=7
el oIS Tk &l 3 (Rieeicar srenr)

(i) Write an example of a solution of liquid
in gas.

TSI TR olE TR 7R 1 G51R TiRed okl |

(i) What is reduced phase rule ?

N ARG IS &2
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(iti) What is equivalent conductivity ?
Tz fRiiRe & e
(iv) Express-a Daniell cell.
(SR (1T 951 2 341 |-
(v) Arrange the following 1n order of
increasing acidity :
TES! Jas WS FEAl 8
CICH,COOH, CL,CHCOOH, Cl;CCOOH

(vi) Aniline reacts with bromine water to give
g AR e elsfos RfFm sk @
(a) o-nitroaniline
(b) m-nitroaniline
(c) p-nitroaniline
(d) 2, 4-dinitroaniline

(vii) Which of the following diazonium salts
" is most stable ? :

TR (O (191 WiES I ?

(a) Benzene diazonium fluoroborate
(b) Benzene diazonium chloride

(c) Aliphatic diazonium salt

(d) None of the above
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(viti) Which of the following proteins
transports oxygen in our body ?

TER (0] 2O ¥ 130 SfREn AT IR ?
(a) Kcratin | | |
(b) Nuclcoprotein

(c) Haemoglobin

(d) Insulin

(ix) Glycine when heated alone gives
BT TG TR |
(a) methylamine
(b) 2-amino ethanol
(c) diketopiperazine

(d) zwetterion

(x) Carbohydrates are characterised by the
prcsence of |

were [l (FINIR AR A IR0
[SIRIBATICRRIGR

(@) OH group
(bp) >C =0 group

(c) Asymmetrid carbon

(d) All of the above
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2. Answer the following questions : (any four)
2%x4=8

©ER PRI s 0 ¢ (Riceiean 51fSoT)

() Distinguish between ideal solution and
. non-ideal solution.

S T3 I S k] ARy &
(i) State and explain phase rule.
e SO R IR el

(ii) The conductivity of 0.2 M solution of KCl
at 298K is 0.0248 S cm~!. Calculate its
molar conductivity. |

208K Txeer® KCl, 0.2M 73 GO %R}zl
0.0248 S cm~! 3 3R (VAR 7RIS /el
= -

(iv) Distingui‘sh between reversible cell and
irreversible cell.

HEIRTS] (FTTT TN FAGJTO| (I AL 1 |

(v) Explain, why carboxylic acids have
higher boiling point than corresponding
alcohols. '

TR APTRR SR SFRT EETs @
T CEHIHRMB | I I |

r
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(vi) Explain, aniline is a weaker base than
cthyl amine. ‘

GRfEw, 3125 NI (F A TS (T |7 |
(vit) How are amino acids related to protein?

af@’ gfﬁ"% 72 A67% e ‘ﬁ“‘*‘lﬁ';_

(viit) Justify Lhe formation of osazone from
glucosc and fructose.

| TG R TIO'TR 247 QG R 907% LG IR
=< |

3. Answer the following questions : (any three)
| ‘ S5x3=15

TR 2R TR T4l ¢ (e )
() (a) Whatis CST? a
CcST o= &2
(b) State and explain Raoult’s law.
JT=o=. 70! e = IR <51 |

(c) Decfinc with example about
azeotropic mixture.

<GS T o fieas Twizewm 5=
1+242=5
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(i) (a) Define phase, components and
degree of freedom.

o], Bl TR Fog WAl Wit & g@miR
e |

(b) Find the number of components
and number of phases in the
following equilibria and evaluate

~ the degree of freedom :

o R0 o} 2 AR, Sl
22jl SR o @l [Refm =41 8

N2 (g)+ 0, (g) = 2NO(q)
3+2=5

(iii) (a) The resistance of a 0.1M solution
of an electrolyte is 60Q at 300K. The
dimensions of each electrode in the
cell are 0.85cm x 1.4cm and the

~distance between them is 1lcm.
Calculate the following — cell
constant, conductivity and molar
conductivity of the solution.

300K S 0.1 M Rgjefrssy &9 QoR (14
60Q. (F1F1 favje 7w quiss wal
0.85cm x 1.4cm SR XS IRLN 1em.
@R szl Faa < |
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(b) Conductivity decreases but molar
conductivity of strong electrolytes
increases on dilution. Explain.

sIgors, Y [g<Rcas bR “faifzel s
foe et izl AT | A /40|
3+2=5

(tv) (a) How can you determine pH using
hydrogen electrode ?

RZE T ZES W IR IR pH 47
(BT 12

(b) What types of information may get
by electrochemical series ?

- R Il (@f OIferei 2411 (e w19
T AR AR ? |
| 3+2=5
" (v) (a) Write Perkin’s reaction with
| " example.
Eﬁﬁﬁ“ﬂ%Cﬂ(’?ﬁﬂ%?ﬁﬁﬁ?ﬂﬁmf%ﬂn
(b) Write the products of the following
. reaction : :
fferar &re By fo =2
| OH |
CI( = CHyCOOCOCH, 2%
NO, T

3+2=3
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(vi) (a)

(b)

(i) (@)

(b)

(viy) (@)

Arrange the following in decreasing |
order of basicity :

TRIT 1 TN TS A e
N,N-dimethyl aniline, aniline,
ammonia, ethylamine, p-nitroaniline

Write with an example of
Sandmeyer reaction.

TR CICo (Theaa=s Rieans =
2+3=5

What kind of bonding is responsible
for tertiary-structure of protein ?

SREAIN &4 s1ie & o 350 I8
02 AT? |
Write briefly on general properties
of proteins. | |

a%miwwmwtdﬁﬁﬂqiﬁ%MI
2+3=5

Write the main classes of
carbohydrates with example.

TAZANR (S IR YR Ta (HAPTHR
= |

/
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Classify the following into reducing
and non-reducing sugars :

wore Ml @R R Wk OikieiRs s<k<i
2ol (2} Rerem s
Fructose, maltose, lactose, sucrose,

starch, glucose, cellulose.
3+2=5

4. Answer the following questions : (any three)
10x3=30

TER 2MTRIR] Tl ol ¢ ("ﬁz—rm G120,

(i) (a) Explain liquid composition curve
and vapour composition curve from
lever rule.

(FTOR NS TR ©61 T& (F12 O (N
TG (71 FICE T4 |

(b) State and explain Nernst
distribution law. Write the
conditions for applicability of the
law.

e fread [ e s qpiey <€ | @3
Rfgs 2taisik 5% i |
- SeE=110
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(i) (a) Write short note on :
Clausius- Clapeyron equation
Or

Phase diagram of one component
system

GSICOIRE ol 8

FHAR- G T
31
9T T TS OES AREIbg

(b) Describe phase diagram of water
system.

Water system ¥ &z o i< 101 <1 |
5+5=10

(iii) (a) Derive the conductivity at infinite
' dilution by applying Kohlrausch
law. |

FZAITEI A 4TS WHT AYoTS
siiRaizel Ay @i |

(b) Write short note on :
HICoIE [l ¢
Transport number and

conductometric titration
~ 5+5=10
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Standard hydrogen electrode and

redox titration.

(b) Derive Nernst equation for
measuring EMF of the cell.
@51 Ry @R EMF @ A s
ATFRECH! Bleredt |

(c) Write the half cell reactions for
electrochemical cell involving the

following cell reaction E
e il RiEaisrs weaibs Ryge ammaf
. (FRCBIR SracaTara RigFams: Fidt s
H,(g)-Cu® = Culs)-2H "
(d) Write the applications of elecfrolysis |
in industrial purpose. |

R s Ry Resa R AR T 4
7 e |
4+2+2+2=10
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v) (a) | Identify A, Band Cin the following

2
CHj; - - OH
(b)
(c)
(vi) (a)

reaction :

el RIFAOR [ A, B W% C e
18 : -

Ca(OH), A__Heat S p NHy-NH; -~

Prepare the following :
TeTe MANRIR T I 3

Acetophenone from acetic acid and
ethyl acetate from ethyl alcohol

Explain, why acetyl chloride gives
nucleophilic substitution reactiohs
more easily than ethyl chloride.

55z FIMTT, 2TH F N2 (F ATS
SN faferar Faftve =ika <A, i 01
"~ 3+4+3=10

What happens when aniline is
treated with benzoyl chloride and
NaOH ?

QFRER 151 (IT2E FIN2T SF: FOA
2w e Rira g =me
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(b) Complete the reaction :
oo RGN Foojel 741 3

CeHsNH, —2—»Cg HsOH

(c) Write the Hinsberg test for
distinguish 1° amine, 2° amine and
3° amine.

1° G313, 2° GEA W 3° G2 2L
IEIRe fRrgiaie s foia |

(d) Give the mechanism of coupling of
diazonium salt with phenol.

SIESE AT &3¢ S (Faa1 IiofeR
i Tafkfa & |

2+2+4+2=10
(vii) (a) Synthesize the following :
- oeTe AR ALCAT 1 8

Ethyl chloride to aniline and acetic
acid to glycine

(b) What do you mean by zwitterionic
property of an amino acid ?

afSiw’ «fowa G e e &

&yl ?
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(c) Justify the structural relationship
of amino acids, peptides and

proteins.

QfSw’ afbw, (o1={B2 B AT~ 515 =
i fmal | | |

(d) Write the principle that can be
applied for the separation of a

mixture of amino acid.

afiw’ @fovg &= b1 ISP FRIAEA
TS (R AISCH! ferdt |
4+2+2+2=10

(viii) (a) Convert the following :
oo AR TSRO 31 2

Fructose into glucose and

glucose into fructose
(b) Explain the following :
I B 8

Glucose does not react with
. NaHSQO,.

A& NaHSO,3 iors Rigwal 7 |
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D-glucose and L-glucose give the
same dicarboxylic acid on

oxidation.

GIR9] 29l D-glucose ©i<: L-glucose (A
ATF (IR TR fen 2o |

Sucrose does not show

mutarotation.

B (S FICORTSHA (F (YA |
4+6=10
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